HLS Swift Current Presort Sale - October 18, 2025. Saturday, October 18, 2025 -- 09:30 AM

Pre-Sort

This is a live broadcast of a pre-sort sale out of HLS Swift Current, SK. For any questions, please contact Jeannie at (780)554-4939.

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	103	1	STRS	MATURE	1009	1009	
2	2	215	27	STRS	REDX/BLK	345	9316	
3	3	424	36	HFRS	RED/BLK	341	12270	
4	4	122	49	HFRS	REDX	535	26207	
5	5	124B	56	STRS	B/BBF	654	36628	
6	6	214	9	STRS	B/BBF LLL	619	5571	
7	7	593	98	STRS	B/BBF LLL	519	50896	
8	8	600	94	STRS	BLK	622	58455	
9	9	596	98	STRS	BLK	608	59617	
10	10	602	98	STRS	BLK	596	58430	
11	11	601	107	STRS	BLK	554	59232	
12	12	126B	112	STRS	BLK	537	60193	
13	13	W4	125	STRS	BLK	480	59960	
14	14	595	89	STRS	BLK/BBF	677	60286	
15	15	594	102	STRS	BLK/BBF	614	62598	
16	16	121B	73	STRS	BLK/BBF	599	43733	
17	17	599	113	STRS	BLK/BBF	547	61841	
18	18	605	97	STRS	BLK/BBF	544	52767	
19	19	123	79	STRS	BLK/BBF	478	37792	
20	20	128	91	STRS	BLK/BBF	421	38299	
21	21	113	6	STRS	BLK/RX	807	4841	
22	22	210	13	STRS	BLKX	461	5992	
23	23	206	2	STRS	EXOTIC	682	1365	
24	24	216	2	STRS	EXOTIC	589	1178	
25	25	207	2	STRS	EXOTIC	490	979	
26	26	202	5	STRS	EXOTIC	427	2133	
27	27	201	5	STRS	EXOTIC	370	1850	
28	28	420	4	STRS	R/B BRIT	520	2082	
29	29	118	79	STRS	RED	607	47967	
30	30	119	110	STRS	RED	543	59725	
31	31	120	53	STRS	RED	463	24523	
32	32	111	18	STRS	REDX	719	12941	
33	33	592	52	STRS	REDX	696	36213	
34	34	112	4	STRS	REDX	674	2696	

35	35	127	45	STRS	REDX	605	27225
36	36	598	49	STRS	REDX	551	27012
37	37	219	5	STRS	REDX	488	2440
38	38	220	7	STRS	REDX	462	3231
39	39	221	14	STRS	REDX	409	5729
40	40	101	10	STRS	REDX	278	2779
41	41	108	8	STRS	RWF	659	5270
42	42	110	18	STRS	RWF	568	10221
43	43	109	3	STRS	RWF	472	1416
44	44	423	10	STRS	SILVER	592	5915
45	45	404	7	STRS	SPECKLE	585	4092
46	46	422	1	STRS	STAGS	790	790
47	47	117	4	STRS	STAGS	710	2838
48	48	116	28	STRS	STAGS	586	16398
49	49	115	18	STRS	STAGS	478	8597
50	50	114	8	STRS	STAGS	403	3226
51	52	589	102	STRS	TWO OWNER	553	56414
52	53	403	4	STRS	XL	715	2859
53	54	211	13	STRS	XL	604	7846
54	55	212	22	STRS	XL	544	11970
55	56	213	10	STRS	XL	466	4659
56	57	98B	76	HFRS	B/BBF	488	37054
57	58	406	33	HFRS	BLK	610	20145
58	59	590	111	HFRS	BLK	545	60450
59	60	W1	118	HFRS	BLK	482	56845
60	61	419	22	HFRS	BLK DUQUETTE	542	11922
61	62	421	19	HFRS	BLK HOGG	614	11664
62	63	407	28	HFRS	BLK/BBF	602	16866
63	64	W2	110	HFRS	BLK/BBF	538	59212
64	65	99B	56	HFRS	BLK/BBF	534	29882
65	66	W3	119	HFRS	BLK/BBF	477	56721
66	67	97	68	HFRS	BLK/BBF	411	27934
67	68	405B	30	HFRS	BLKX	494	14824
68	69	203X	3	HFRS	EXOTIC	577	1731
69	70	218	6	HFRS	EXOTIC	497	2980
70	71	205X	3	HFRS	EXOTIC	445	1334
71	72	204X	6	HFRS	EXOTIC	347	2083
72	73	409	4	HFRS	HWF	590	2362
73	74	105X	5	HFRS	LH X	509	2543
74	75	418	3	HFRS	MATURE	778	2333
75	76	414	23	HFRS	RED	591	13593
76	77	415	36	HFRS	RED	525	18917
77	78	106X	30	HFRS	RED COOPER	543	16301

		J. 2552						
90	92	TAG	1	STRS	TAG PEN	575	575	
89	91	411	14	HFRS	XL	453	6336	
88	90	412	36	HFRS	XL	512	18422	
87	89	413	26	HFRS	XL	580	15083	
86	88	417	21	HFRS	TAN	516	10843	
85	86	107	4	HFRS	SPECKLE	462	1846	
84	85	410	8	HFRS	RWF	498	3985	
83	84	408	22	HFRS	REDX/BLK	695	15288	
82	83	102	7	HFRS	REDX	273	1910	
81	82	125	47	HFRS	REDX	413	19419	
80	81	416	55	HFRS	REDX	463	25486	
79	80	597	58	HFRS	REDX	477	27676	
78	79	591	50	HFRS	REDX	617	30867	

Total Head: 3553

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	103	Consignor:	
Head:	1	Average Weight:	1009
Color:		Total Weight:	1009
Sex:	STRS	Breed:	MATURE
Lot Detail Information			
Sequence #:	2	Lot #:	2
Pen #:	215	Consignor:	
Head:	27	Average Weight:	345
Color:		Total Weight:	9316
Sex:	STRS	Breed:	REDX/BLK
Lot Detail Information			
Sequence #:	3	Lot #:	3
Pen #:	424	Consignor:	
Head:	36	Average Weight:	341
Color:		Total Weight:	12270
Sex:	HFRS	Breed:	RED/BLK
Lot Detail Information			
Sequence #:	4	Lot #:	4
Pen #:	122	Consignor:	
Head:	49	Average Weight:	535
Color:		Total Weight:	26207
Sex:	HFRS	Breed:	REDX
Lot Detail Information			
Sequence #:	5	Lot #:	5
Pen #:	124B	Consignor:	
Head:	56	Average Weight:	654
Color:		Total Weight:	36628
Sex:	STRS	Breed:	B/BBF
Lot Detail Information			-
Sequence #:	6	Lot #:	6
Pen #:	214	Consignor:	
Head:	9	Average Weight:	619
Color:		Total Weight:	5571
Sex:	STRS	Breed:	B/BBF LLL
Lot Detail Information			-
Sequence #:	7	Lot #:	7
Pen #:	593	Consignor:	
Head:	98	Average Weight:	519
Color:		Total Weight:	50896
Sex:	STRS	Breed:	B/BBF LLL
Lot Detail Information	.	2.000.	-,·
Sequence #:	8	 Lot #:	8

Pen #:	600	Consignor:	
Head:	94	Average Weight:	622
Color:	94	Total Weight:	58455
Sex:	STRS	Breed:	BLK
Lot Detail Information	3113	breed.	BER
Sequence #:	9	 Lot #:	9
Pen #:	5 596		9
Head:	98	Consignor: Average Weight:	608
Color:	96		59617
Sex:	STRS	Total Weight: Breed:	BLK
Lot Detail Information	SIKS	Breed.	BLK
		Lab. III	
Sequence #:	10	Lot #:	10
Pen #:	602	Consignor:	
Head:	98	Average Weight:	596
Color:	OTD C	Total Weight:	58430 BU/
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	11	Lot #:	11
Pen #:	601	Consignor:	
Head:	107	Average Weight:	554
Color:		Total Weight:	59232
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	12	Lot #:	12
Pen #:	126B	Consignor:	
Head:	112	Average Weight:	537
Color:		Total Weight:	60193
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	13	Lot #:	13
Pen #:	W4	Consignor:	
Head:	125	Average Weight:	480
Color:		Total Weight:	59960
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	14	Lot #:	14
Pen #:	595	Consignor:	
Head:	89	Average Weight:	677
Color:		Total Weight:	60286
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	15	Lot #:	15
Pen #:	594	Consignor:	
Head:	102	Average Weight:	614

Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	16	Lot #:	16
Pen #:	121B	Consignor:	
Head:	73	Average Weight:	599
Color:		Total Weight:	43733
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	17	Lot #:	17
Pen #:	599	Consignor:	
Head:	113	Average Weight:	547
Color:		Total Weight:	61841
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	18	Lot #:	18
Pen #:	605	Consignor:	
Head:	97	Average Weight:	544
Color:		Total Weight:	52767
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	19	Lot #:	19
Pen #:	123	Consignor:	
Head:	79	Average Weight:	478
Color:		Total Weight:	37792
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	20	Lot #:	20
Pen #:	128	Consignor:	
Head:	91	Average Weight:	421
Color:		Total Weight:	38299
Sex:	STRS	Breed:	BLK/BBF
Lot Detail Information			
Sequence #:	21	Lot #:	21
Pen #:	113	Consignor:	
Head:	6	Average Weight:	807
Color:		Total Weight:	4841
Sex:	STRS	Breed:	BLK/RX
Lot Detail Information			
Sequence #:	22	Lot #:	22
Pen #:	210	Consignor:	
Head:	13	Average Weight:	461
Color:		Total Weight:	5992
Sex:	STRS	Breed:	BLKX
Lot Detail Information			

Sequence #:	23	Lot #:	23
Pen #:	206	Consignor:	
Head:	2	Average Weight:	682
Color:		Total Weight:	1365
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information	1		
Sequence #:	24	Lot #:	24
Pen #:	216	Consignor:	
Head:	2	Average Weight:	589
Color:		Total Weight:	1178
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information	1		
Sequence #:	25	Lot #:	25
Pen #:	207	Consignor:	
Head:	2	Average Weight:	490
Color:		Total Weight:	979
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information	1		
Sequence #:	26	Lot #:	26
Pen #:	202	Consignor:	
Head:	5	Average Weight:	427
Color:		Total Weight:	2133
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information	1		
Sequence #:	27	Lot #:	27
Pen #:	201	Consignor:	
Head:	5	Average Weight:	370
Color:		Total Weight:	1850
Sex:	STRS	Breed:	EXOTIC
Lot Detail Information	1		
Sequence #:	28	Lot #:	28
Pen #:	420	Consignor:	
Head:	4	Average Weight:	520
Color:		Total Weight:	2082
Sex:	STRS	Breed:	R/B BRIT
Lot Detail Information	1		
Sequence #:	29	Lot #:	29
Pen #:	118	Consignor:	
Head:	79	Average Weight:	607
Color:		Total Weight:	47967
Sex:	STRS	Breed:	RED
Lot Detail Information	1		
Sequence #:	30	Lot #:	30
Pen #:	119	Consignor:	
		consignor.	

Color:		Total Weight:	59725
Sex:	STRS	Breed:	RED
Lot Detail Information			
Sequence #:	31	Lot #:	31
Pen #:	120	Consignor:	
Head:	53	Average Weight:	463
Color:		Total Weight:	24523
Sex:	STRS	Breed:	RED
Lot Detail Information			
Sequence #:	32	Lot #:	32
Pen #:	111	Consignor:	
Head:	18	Average Weight:	719
Color:		Total Weight:	12941
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	33	Lot #:	33
Pen #:	592	Consignor:	
Head:	52	Average Weight:	696
Color:		Total Weight:	36213
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	34	Lot #:	34
Pen #:	112	Consignor:	
Head:	4	Average Weight:	674
Color:		Total Weight:	2696
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	35	Lot #:	35
Pen #:	127	Consignor:	
Head:	45	Average Weight:	605
Color:		Total Weight:	27225
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	36	Lot #:	36
Pen #:	598	Consignor:	
Head:	49	Average Weight:	551
Color:		Total Weight:	27012
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	37	Lot #:	37
Pen #:	219	Consignor:	
Head:	5	Average Weight:	488
Color:		Total Weight:	2440
Sex:	STRS	Breed:	REDX

Lot Detail Information 38 Lot #: 38 Sequence #: 220 Pen #: Consignor: Head: 7 Average Weight: 462 Color: Total Weight: 3231 REDX Sex: STRS Breed: **Lot Detail Information**

Sequence #:	39	Lot #:	39
Pen #:	221	Consignor:	
Head:	14	Average Weight:	409
Color:		Total Weight:	5729
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	40	Lot #:	40
Pen #:	101	Consignor:	
Head:	10	Average Weight:	278
Color:		Total Weight:	2779
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	41	Lot #:	41
Pen #:	108	Consignor:	
Head:	8	Average Weight:	659
Color:		Total Weight:	5270
Sex:	STRS	Breed:	RWF
Lot Detail Information			
Sequence #:	42	Lot #:	42
Pen #:	110	Consignor:	
Head:	18	Average Weight:	568
Color:		Total Weight:	10221
Sex:	STRS	Breed:	RWF
Lot Detail Information			
Sequence #:	43	Lot #:	43
Pen #:	109	Consignor:	
Head:	3	Average Weight:	472
Color:		Total Weight:	1416
Sex:	STRS	Breed:	RWF
Lot Detail Information			
Sequence #:	44	Lot #:	44
Pen #:	423	Consignor:	
Head:	10	Average Weight:	592
Color:		Total Weight:	5915
Sex:	STRS	Breed:	SILVER
Lot Detail Information			
Sequence #:	45	Lot #:	45

Pen #:	404	Consignor:	
Head:	7	Average Weight:	585
Color:		Total Weight:	4092
Sex:	STRS	Breed:	SPECKLE
Lot Detail Information			
Sequence #:	46	Lot #:	46
Pen #:	422	Consignor:	
Head:	1	Average Weight:	790
Color:		Total Weight:	790
Sex:	STRS	Breed:	STAGS
Lot Detail Information			
Sequence #:	47	Lot #:	47
Pen #:	117	Consignor:	
Head:	4	Average Weight:	710
Color:		Total Weight:	2838
Sex:	STRS	Breed:	STAGS
Lot Detail Information			
Sequence #:	48	Lot #:	48
Pen #:	116	Consignor:	
Head:	28	Average Weight:	586
Color:		Total Weight:	16398
Sex:	STRS	Breed:	STAGS
Lot Detail Information			
Sequence #:	49	Lot #:	49
Pen #:	115	Consignor:	
Head:	18	Average Weight:	478
Color:		Total Weight:	8597
Sex:	STRS	Breed:	STAGS
Lot Detail Information			
Sequence #:	50	Lot #:	50
Pen #:	114	Consignor:	
Head:	8	Average Weight:	403
Color:		Total Weight:	3226
Sex:	STRS	Breed:	STAGS
Lot Detail Information			
Sequence #:	51	Lot #:	52
Pen #:	589	Consignor:	
Head:	102	Average Weight:	553
Color:		Total Weight:	56414
Sex:			
	STRS	Breed:	TWO OWNER
Lot Detail Information	STRS	Breed:	TWO OWNER
Lot Detail Information Sequence #:	STRS	Breed: Lot #:	TWO OWNER 53
Sequence #:	52	Lot #:	

Sex:	STRS	Breed:	XL
Lot Detail Information			
Sequence #:	53	Lot #:	54
Pen #:	211	Consignor:	
Head:	13	Average Weight:	604
Color:		Total Weight:	7846
Sex:	STRS	Breed:	XL
Lot Detail Information			
Sequence #:	54	Lot #:	55
Pen #:	212	Consignor:	
Head:	22	Average Weight:	544
Color:		Total Weight:	11970
Sex:	STRS	Breed:	XL
Lot Detail Information			
Sequence #:	55	Lot #:	56
Pen #:	213	Consignor:	
Head:	10	Average Weight:	466
Color:		Total Weight:	4659
Sex:	STRS	Breed:	XL
Lot Detail Information			
Sequence #:	56	Lot #:	57
Pen #:	98B	Consignor:	
Head:	76	Average Weight:	488
Color:		Total Weight:	37054
Sex:	HFRS	Breed:	B/BBF
Lot Detail Information			
Sequence #:	57	Lot #:	58
Pen #:	406	Consignor:	
Head:	33	Average Weight:	610
Color:		Total Weight:	20145
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	58	Lot #:	59
Pen #:	590	Consignor:	
Head:	111	Average Weight:	545
Color:		Total Weight:	60450
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	59	Lot #:	60
Pen #:	W1	Consignor:	
Head:	118	Average Weight:	482
Color:		Total Weight:	56845
Sex:	HFRS	Breed:	BLK
Lot Detail Information			

Sequence #:	60	Lot #:	61
Pen #:	419	Consignor:	
Head:	22	Average Weight:	542
Color:		Total Weight:	11922
Sex:	HFRS	Breed:	BLK DUQUETTE
Lot Detail Informati	ion		
Sequence #:	61	Lot #:	62
Pen #:	421	Consignor:	
Head:	19	Average Weight:	614
Color:		Total Weight:	11664
Sex:	HFRS	Breed:	BLK HOGG
Lot Detail Informati	ion		
Sequence #:	62	Lot #:	63
Pen #:	407	Consignor:	
Head:	28	Average Weight:	602
Color:		Total Weight:	16866
Sex:	HFRS	Breed:	BLK/BBF
Lot Detail Informati	ion		
Sequence #:	63	Lot #:	64
Pen #:	W2	Consignor:	
Head:	110	Average Weight:	538
Color:		Total Weight:	59212
Sex:	HFRS	Breed:	BLK/BBF
Lot Detail Informati	ion		
Sequence #:	64	Lot #:	65
Pen #:	99B	Consignor:	
Head:	56	Average Weight:	534
Color:		Total Weight:	29882
Sex:	HFRS	Breed:	BLK/BBF
Lot Detail Informati	ion		•
Sequence #:	65	Lot #:	66
Pen #:	W3	Consignor:	
Head:	119	Average Weight:	477
Color:		Total Weight:	56721
Sex:	HFRS	Breed:	BLK/BBF
Lot Detail Informati			- -
Sequence #:	66	Lot #:	67
Pen #:	97	Consignor:	-
Head:	68	Average Weight:	411
Color:		Total Weight:	27934
Sex:	HFRS	Breed:	BLK/BBF
Lot Detail Informati		-	•
Sequence #:	67	 Lot #:	68
Pen #:	405B	Consignor:	
Head:	30	Average Weight:	494

Color:		Total Weight:	14824
Sex:	HFRS	Breed:	BLKX
Lot Detail Information			
Sequence #:	68	Lot #:	69
Pen #:	203X	Consignor:	
Head:	3	Average Weight:	577
Color:		Total Weight:	1731
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	69	Lot #:	70
Pen #:	218	Consignor:	
Head:	6	Average Weight:	497
Color:		Total Weight:	2980
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	70	Lot #:	71
Pen #:	205X	Consignor:	
Head:	3	Average Weight:	445
Color:		Total Weight:	1334
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	71	Lot #:	72
Pen #:	204X	Consignor:	
Head:	6	Average Weight:	347
Color:		Total Weight:	2083
Sex:	HFRS	Breed:	EXOTIC
Lot Detail Information			
Sequence #:	72	Lot #:	73
Pen #:	409	Consignor:	
Head:	4	Average Weight:	590
Color:		Total Weight:	2362
Sex:	HFRS	Breed:	HWF
Lot Detail Information			
Sequence #:	73	Lot #:	74
Pen #:	105X	Consignor:	
Head:	5	Average Weight:	509
Color:		Total Weight:	2543
Sex:	HFRS	Breed:	LH X
Lot Detail Information			
Sequence #:	74	Lot #:	75
Pen #:	418	Consignor:	
Head:	3	Average Weight:	778
Color:		Total Weight:	2333
Sex:	HFRS	Breed:	MATURE

Lot Detail Information 75 Lot #: Sequence #: 76 Pen #: 414 Consignor: 591 Head: 23 Average Weight: Color: Total Weight: 13593 Sex: **HFRS** Breed: **RED Lot Detail Information** Sequence #: 76 Lot #: **77** Pen #: 415 Consignor: Head: 525 36 Average Weight: Color: Total Weight: 18917 Sex: **HFRS** Breed: **RED Lot Detail Information 78** Sequence #: **77** Lot #: Pen #: 106X Consignor: Head: 30 543 Average Weight: Color: Total Weight: 16301 Sex: **HFRS** Breed: **RED COOPER Lot Detail Information** 78 Lot #: 79 Sequence #: Pen #: **591** Consignor: Head: 50 Average Weight: 617 Color: Total Weight: 30867 Sex: **HFRS** Breed: **REDX Lot Detail Information** Sequence #: 79 Lot #: 80 Pen #: 597 Consignor: Head: 58 Average Weight: 477 Color: Total Weight: 27676 Sex: **HFRS** Breed: **REDX Lot Detail Information** 80 Lot #: Sequence #: 81 Pen #: 416 Consignor: Head: 55 Average Weight: 463 Color: Total Weight: 25486 Sex: **HFRS** Breed: **REDX Lot Detail Information** Sequence #: 81 Lot #: 82 Pen #: 125 Consignor: Head: Average Weight: 413 47 Color: Total Weight: 19419 Sex: **HFRS** Breed: **REDX Lot Detail Information**

Lot #:

83

Sequence #:

82

Pen #:	102	Consignor:	
Head:	7	Average Weight:	273
Color:		Total Weight:	1910
Sex:	HFRS	Breed:	REDX
Lot Detail Information			
Sequence #:	83	Lot #:	84
Pen #:	408	Consignor:	
Head:	22	Average Weight:	695
Color:		Total Weight:	15288
Sex:	HFRS	Breed:	REDX/BLK
Lot Detail Information			
Sequence #:	84	Lot #:	85
Pen #:	410	Consignor:	
Head:	8	Average Weight:	498
Color:		Total Weight:	3985
Sex:	HFRS	Breed:	RWF
Lot Detail Information			
Sequence #:	85	Lot #:	86
Pen #:	107	Consignor:	
Head:	4	Average Weight:	462
Color:		Total Weight:	1846
Sex:	HFRS	Breed:	SPECKLE
Lot Detail Information			
Sequence #:	86	Lot #:	88
Pen #:	417	Consignor:	
Head:	21	Average Weight:	516
Color:		Total Weight:	10843
Sex:	HFRS	Breed:	TAN
Lot Detail Information			
Sequence #:	87	Lot #:	89
Pen #:	413	Consignor:	
Head:	26	Average Weight:	580
Color:		Total Weight:	15083
Sex:	HFRS	Breed:	XL
Lot Detail Information			
Sequence #:	88	Lot #:	90
Pen #:	412	Consignor:	
Head:	36	Average Weight:	512
Color:		Total Weight:	18422
Sex:	HFRS	Breed:	XL
Lot Detail Information			
Sequence #:	89	Lot #:	91
Pen #:	411	Consignor:	
Head:	14	Average Weight:	453

Sex:	HFRS	Breed:	XL
Lot Detail Information			
Sequence #:	90	Lot #:	92
Pen #:	TAG	Consignor:	
Head:	1	Average Weight:	575
Color:		Total Weight:	575
Sex:	STRS	Breed:	TAG PEN